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D(g)=> ((q) — x(p))* + (wla) — y(ps))?
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for i=1 ton
cli] = 1;
for i=1 to n-2
for j=i+1 to n-1
for k=j+1 ton
if c[k] = 1 then{
for m=k+1 ton
if Contain(i, j, k, m) then c[m] = O;
+
for i=1 ton

if c¢[i] = 1 then output 1i;
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u = 0;

for i=1 to m-1

n
[

if px[i] > px[u]l then u
v = 03
for j=1 to n-1

if px[j] < px[v] then v
dof{

]
.
.o



while( LeftTurn(P[ul, Q[v], Q[(v-1) mod n)])
v = (v-1) mod n;
while( RightTurn(Q[v], P[u], P[(u+1l) mod m)])
v = (v-1) mod n;
} while( LeftTurn(P[ul], Q[v], QL(v-1) mod nl));
Report (P[u]l, Q[v]) as a tangent line
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